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Question No.1 Marks: 1.00
Bookmark
In which year was Rani Avantibai, who played a crucial role in the 1857 War of
Independence, born?
1857 & WqciaAdl S H Agayul YfHeT FUM aTelt I el 1 o S il UT?
(A) O 1840
1840
(B) O 1835
1835
(C) O 1831 (Correct Answer) (Chosen option)
1831
(D) O 1839
1839

Question No.2 Marks: 1.00

Bookmark
Bandar Kudni' is in which of the following places in Madhya Pradesh?

g Y | s He-r Fufafed 7 3 ey R w g2

(A) O Bhedaghat (Correct Answer) (Chosen option)
UgTHTe

(B) O Dhar
YR
(C) O Neemuch
BILE]
(D) O Satna
SGEI

Question No.3 Marks: 1.00

Bookmark
Who is the author of the book 'Happy Birthday, World!?'

2uf U3, IR TP b AWP DI &2
(A) O R.K. Narayan
3R, AR
(B) O Khushwant Singh (Chosen option)
gerdd g
(C) O Chetan Bhagat
EGERIIK

(D) O Ruskin Bond (Correct Answer)
CIrS

Question No.4 Marks: 1.00
Bookmark
Which state bagged the first rank in the India Innovation Index 2020 declared by NITI
Aayog under the category of 'Major States?'
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HfeT ST gRT T v I 90t & dgd R AR Yadid 2020 H UYH I01 ()
fora o o1 fireft g2

(A) O Karnataka (Correct Answer)
FHlcH

(B) O Guijarat (Chosen option)

(C) O Maharashtra

HeRTY
(D) O Tamil Nadu

Question No.5 Marks: 1.00

Bookmark
Who among the following has been awarded the Sportsperson of the Year (Female)
Award at the FICCI India Sports Awards 20207

frafafeaa o @ fed fihaw! Sfear Wcy Sargy 2020 # A1d & T4y Ryare! ([eque—
3T & $2R) (ARl REBR ¥ grfid fopar mar g2
(A) O Hima Das
g e
(B) O Elavenil Valarivan (Correct Answer)

(C) O Dutee Chand (Chosen option)
gfd =<

(D) O Mary Kom
BRI

Question No.6 Marks: 1.00
Bookmark
In which year was the Directorate Sports and Youth Welfare established by the Madhya
Pradesh government?
T Y R A {59 a8 & W Td ga1 Heuror FeRneg o Rar o1 ot
(A) O 1975 (Correct Answer) (Chosen option)
1975

(B) O 1976
1976
(C)O 1977
1977

(D) O 1978
1978

Question No.7 Marks: 1.00
Bookmark
In which year was Madhya Pradesh Karate Association established?
Y TR HRIC THRITRH St R forg a9 &t 715 o2
(A) O 1980 (Chosen option)
1980
(B) O 1979 (Correct Answer)
1979
(C) O 1977
1977

(D) O 1975
1975

Question No.8 Marks: 1.00
Bookmark

In which year did the Bhopal Gas Tragedy occur?
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ioTe T Fie forg 9o & g3 o2
(A) O 1987
1987

(B) O 1985
1985

(C)O 1990
1990

(D) O 1984 (Correct Answer) (Chosen option)
1984

Question No.9 Marks: 1.00

Bookmark
Who was the first woman speaker of Lok Sabha?

AHIUT BT ygat Afgen W HiF o2

(A) O Sumitra Mahajan (Chosen option)
BSIEEIRHE]

(B) O Meira Kumar (Correct Answer)
HRT HAR

(C) O Anandiben Patel
3fridta

(D) O Pratibha Patil
gfcryT arfed

Question No.10 Marks: 1.00

Bookmark
Who among the following is known as the Mother Teresa of Madhya Pradesh?

i & 3 {59 7e0 USw o1 Hex ST P U H SHT 9idl 82
(A) O Padmavgthy Bandopadhyay
21es)

(B) O Nisha Agrawal
ENIRCPEIR]

(C) O Supriya Aggarwal (Chosen option)
SPEIN

(D) O Leela Joshi (Correct Answer)

Question No.11 Marks: 1.00

Bookmark
Which is the lowest point of India?

YR &1 Ty g fig dH-ar g2

(A) O Kuttanad (Correct Answer) (Chosen option)
Pels

(B) O Woular Lake
JeR b

(C) O Kutch
P

(D) O Mahe

Question No.12 Marks: 1.00

Bookmark
What was Madhya Pradesh's rank in the India Innovation Index 2020 released by NITI
Aayog?
I SN GRT IR HRA AR Ya®hi® (31SaT SGRM Soad 2020) H AU BT R
T YT?
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(A) O 1q2th

12
(B) O 13th (Correct Answer)

137

(C) O 11 (Chosen option)
119

(D) O 1qoth
109

Question No.13 Marks: 1.00

Bookmark
Who first translated the Bhagavad Gita to English?

YATAE Tdl &1 Ugall aR UG § 3arg fbe fobar 12
(A) O Alexander Cunningham
T X

(B) O Rabindranath Tagore
()

(C) O Charles Wilkins (Correct Answer) (Chosen option)

(D) O Mahatma Gandhi
HETeT gt

Question No.14 Marks: 1.00

Bookmark
What is Madhya Pradesh's rank in India in terms of the area of the state?

I & A B AT H YR B 7L YT BT R F7 82
(A) O grd
R
(B) O qst
gl
(C) O 2nd (Correct Answer) (Chosen option)

TR
(D) O g4th
T

Question No.15 Marks: 1.00

Bookmark
What was the theme of the Indian Navy Day observed on December 4, 20207

4 feg®R, 2020 BT YR YT feaw &1 v () or ur?

(A) O Indian Navy- Ensuring Secure Seas for a Resurgent Nation
YR AR - R 1y & fore QRferd s A oo

(B) O Indian Navy, Mission-Deployed and Combat-Ready

(C) O Indian Navy - Silent, Strong and Swift (Chosen option)

(D) O Indian Navy Combat Ready, Credible and Cohesive (Correct Answer)
YR /T - A81P dUR, faga-ia sk arieraguf

Question No.16 Marks: 1.00
Bookmark

The 96" Tansen Music Festival was held in which of the following places of Madhya
Pradesh in December 20207
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fgeR 2020 T T8 TRY & MR # @ frd =iF | 967 e @ifid SARIE &1
Smaiford fasam mar ur?

(A) O Gwalior (Correct Answer) (Chosen option)
TR

B) O Indore
%R

(C) O Bhopal

(D) O Jabalpur
SR

Question No.17 Marks: 1.00

Bookmark
Who among the following was the first Indian woman to swim across the English
Channel?

Fafafed & 9 D =T 9d IR UR &= alel Tsd YRdHd Aigdl a1 di?
(A) O Chahat Arora
dled :
(B) O Rujuta Khade (Chosen option)
ANCIRCIS]
(C) O Arati Saha (Correct Answer)
SRt ATRT

(D) © Jyotsna Pansare
I TR

GENERAL HINDI - GENERAL HINDI

Question No.1 Marks: 1.00

fafafed & ¥ oH-u1 Wee ga &1 fudards g2

Bookmark

(A) O oI (Correct Answer)
(B) O g&u
(C) O ¥dNT (Chosen option)

(D) O =y

Question No.2 Marks: 1.00
fFufafad & ¥ HH-91 U JaR) HId BT IS8 T8l 272

(A) O Iudr

Bookmark

(B) O eI (Correct Answer)
(C) O &I (Chosen option)

(D) O 3fraT

Question No.3 Marks: 1.00
Bookmark
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9 o QT g &1 9ge B

(A) O 1= |1 @ e 81 — 3TF YIHTA (Chosen option)

(B) O g-itet Ug 5T Tl — 3quf ydahral
(C) O qH el al A% d g1l | — HUTH HfIIq HTd (Correct Answer)

(D) O 98 Tpd 1| — AH YdbTd

Question No.4 Marks: 1.00
Bookmark
TR G & foba A B 82
(A)O =

(B) O did (Correct Answer) (Chosen option)
(C)O =

(D) O ame

Question No.5 Marks: 1.00
Bookmark
HsferT, SO {6y UHR & AI® B 82
(A) O 3feqd AIl® &g
(B) O fauw A& ©¢ (Correct Answer)

(C) O Had @< (Chosen option)

(D) O gHHAR® T

Question No.6 Marks: 1.00
Bookmark

T T JdTH BT 9100 H 37 Vsal I JaY SIS aTa WWeg T Syl 872
(A) O HdUIA® 3feqY (Correct Answer) (Chosen option)

(B) O = qIyd 3y

(C) O fawme sy 3/qg

(D) O fopar faxivor

Question No.7 Marks: 1.00
Bookmark
3 T § areT fa=wor 8-
(A) O 3ifiay
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(B) O 3T (Correct Answer) (Chosen option)

(C) O sifirpd
(D) O 3R

Question No.8 Marks: 1.00
Bookmark
S Y F1 RTe-fhdTe @ 8r & forg U Wsg . 82
(A) O @9uUTd (Correct Answer) (Chosen option)
(B) O d=mfay
(C) O ayurs
(D) O fagpar

Question No.9 Marks: 1.00
Bookmark
Teqer fHae yafgard g2

(A) O ST (Correct Answer)
(B) O qw
(C) O GUR (Chosen option)

(D) O drgd

Question No.10 Marks: 1.00
Bookmark
% faT &1 A9 g R Fofafed & 9 SH-91 999 §7dT 82
(A) O DB T2y
(B) O HWIGH dg¥Y (Correct Answer) (Chosen option)
(C) O U dgzy
(D) O HH qagsy

Question No.11 Marks: 1.00
Bookmark
T g U T it § ¥ fhad 91y vged gan g?
(A) O dedT (Correct Answer)

(B) O ¢y=arar
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(C) O Jradf (Chosen option)

(D) O =af

Question No.12 Marks: 1.00
Bookmark

ST TR TaT & gIRT Sl MY el BT AT e 3 fApTel 3T H19-T71 3P R Hed 872

(A) O awhifed 3[@®R (Correct Answer) (Chosen option)
(B) O =¥ 3fcidbR
(C) O gH® 3ffPR

(D) O IUHT 3cidR

Question No.13 Marks: 1.00
] ] Bookmark
F T3 S 7 Forf SR Apifad o1 T 31 §-
(A) O f3darg 1 s ¥ W HRAT (Correct Answer) (Chosen option)
(B) O «igdt = aaIT
(C)O fomr a1 & SIS FF
(D) O faarg & dgMT

Question No.14 Marks: 1.00
Bookmark
Tor Uag fou 7T et & g & 91y Uged &) Tebdl 22
(A) O T=d
(B) O Igarefm
(C) O a8 (Correct Answer) (Chosen option)

(D) O T

Question No.15 Marks: 1.00

Bookmark
SR I & STER FEfifed & @ ©1F-91 UaH1eR 8! Hadrdl g2
A)O A

(B) O ¥ (Correct Answer)

©O =

O
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(D) U (Chosen option)
Question No.16 Marks: 1.00
Bookmark
S ATed BT Y YRVT (FATA) HT 8 & 1T U e T 672
(A) O gAYR (Correct Answer) (Chosen option)
(B) O wdfora
(C) O W rer
(D) O =M
Question No.17 Marks: 1.00
Bookmark
frafed & ¥ B8 wsg B o Y 82
(A) O I3
(B) O ¥9IRH (Correct Answer) (Chosen option)
(C) O fefw
(D) O =1fan
GENERAL ENGLISH - GENERAL ENGLISH
Question No.1 Marks: 1.00
Bookmark
Fill in the blank with the suitable tense in the given sentence:
Considering the weather to be so uncertain, the party indoors.
(A) O is holding
(B) O will be held (Correct Answer)
(C) O held
(D) O is going held (Chosen option)
Question No.2 Marks: 1.00
Bookmark
Fill in the blanks with the suitable tense in the given sentence:
You pleased to hear that you to join the committee.
(A) O have been , was selected
(B) O are, is selecting
(C) O have been, selected (Chosen option)
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(D) O will be , have been selected (Correct Answer)

Question No.3 Marks: 1.00

Bookmark
Fill in the blanks with the suitable article in the given sentence:

[livein __ smalltown. __ townisnear _____ large city.
(A) O no article, A, the

(B) O a, A, the

(C) O the, The, no article

(D) O a, The, a (Correct Answer) (Chosen option)

Question No.4 Marks: 1.00

Bookmark
Choose the option that best fills in the given sentence:

Shiftalittle,  ?

(A) O can'tyou

(B) O will you (Correct Answer)
(C) O have you

(D) © may you (Chosen option)

Question No.5 Marks: 1.00

Bookmark
Fill in the blank with the correct form of the verb in the given sentence:

The teacher felt that he had all that was needed for his students to clear the
exams.

(A) O teach
(B) O teaching
(C) O taught (Correct Answer) (Chosen option)

(D) O teached

Question No.6 Marks: 1.00

Bookmark
Choose the correct sequence of the sentences given below to construct a meaningful
paragraph.

i. When the fever had gone, it was found that the child had become blind, deaf and
dumb.

ii. Helen Keller was born in 1880 in a little town in northern Alabama.
iii. Helen’s parents were very sad but they didn’t lose heart.
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iv. When she was only nineteen months old, she was attacked by a strange kind of fever.
v. They took the advice of many good doctors.

(A) O i, iv, i, iii, v (Correct Answer) (Chosen option)
(B) O iii, i, i, iv, v
(C) O i, iii, i, iv, v

(D) O i, iv, i, ii, v

Question No.7 Marks: 1.00
Bookmark
Fill in the blank with the correct word in the given sentence:

The doctor as well as the nurses __ hard day and night.
(A) O working

(B) O works (Correct Answer)

(C) O work (Chosen option)

(D) O would worked

Question No.8 Marks: 1.00
Bookmark
Out of the following, identify the incorrect sentence.

(A) O The sentry was on the beat.
(B) O He speaks broken English. (Chosen option)
(C) O He stood on the patio.

(D) O Iwas walking in the pavement. (Correct Answer)

Question No.9 Marks: 1.00
Bookmark
Fill in the blanks with the suitable preposition in the given sentence:

The degree was conferred ~_ him __ the convocation __ the Vice-Chancellor.
(A) O to, in, by (Chosen option)

(B) O with, in, to

(C) O on, at, by (Correct Answer)

(D) O by, in, on

Question No.10 Marks: 1.00
Bookmark
Out of the following, choose the word with the incorrect spelling.
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(A) O Fuzzes
(B) O Laundrys (Correct Answer) (Chosen option)
(C) O Referring

(D) O Sufficient

Question No.11 Marks: 1.00

Bookmark
Parts of the sentence have been underlined, choose carefully from the options below to
improve the sentence structure:

| sent him telegram, informing him of his father's demise.

(A) O 1sended him a telegram
(B) O Isent him a telegram (Correct Answer) (Chosen option)
(C) O I1sends to him a telegram

(D) O 1send him telegram

Question No.12 Marks: 1.00

Bookmark
Choose the option that best combines the given sentences.

He did it very quietly. The potter couldn’t feel the difference.

(A) O He did it very quietly even though the potter could feel the difference.

(B) O He did it so quietly that the potter couldn’t feel the difference. (Correct
Answer)

(C) O He did it very quietly so the potter couldn’t feel the difference.

(D) O He did it very quietly but the potter couldn’t feel the difference. (Chosen option)

Question No.13 Marks: 1.00

Bookmark
Choose the option that shows the correct change in voice for the given sentence:

We eat eggs during dinner time every day.

(A) O We love to eat eggs during dinner time every day.

(B) O Eggs are being eaten by us during dinner time every day. (Chosen option)
(C) O Eggs are eaten by us during dinner time every day. (Correct Answer)

(D) O Every day we eat eggs during dinner.

Question No.14 Marks: 1.00
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Bookmark
Fill in the blank with the correct determiner in the given sentence:
There aren’t books in the library.
(A) O very much
(B) O lots (Chosen option)
(C) O quite few
(D) O very many (Correct Answer)
Question No.15 Marks: 1.00
Bookmark
Fill in the blank with a suitable preposition in the given sentence:
Do you mind if | don't join the revelry?
(A) O for (Chosen option)
(B) O in (Correct Answer)
(C)O on
(D) O at
Question No.16 Marks: 1.00
Bookmark
Fill in the blank with the correct conjunction in the given sentence:
Have you not often wondered that we appear strong, we are always weak
inside.
(A) O although (Chosen option)
(B) O despite of
(C) O even
(D) O even though (Correct Answer)
GENERAL MATHS - GENERAL MATHS
Question No.1 Marks: 1.00
Bookmark
The remainder of the polynomial p(x) = x* — x3 — 5x + 5 when divided by x - 2 is:
FEUTE p(x) = x* — x3 — 5x + 5 BT AYHA 1 ¢ o9 39 x - 2 ¥ faHford fowan smar g2
(A) O 3 (Correct Answer) (Chosen option)
3
B)O 0
0
(C)O -2
-2
D) O 2
2
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Question No.2 Marks: 1.00
Bookmark
What is the lower limit of the modal class of the following distribution:
0-10 10-20 20-30 30-40 40-30 50-a0
16 13 6 11 27 18
HratafEa faaver & #isd g9 f1 e d9ar #2018
0-10 10-20 20-30 30-40 40-50 50-60
16 13 6 11 27 18
(A) O 50
50
(B) O 30
30
(C)O 20
20
(D) O 40 (Correct Answer) (Chosen option)
40
Question No.3 Marks: 1.00
Bookmark
In the given figure, ABCD is a frapezium in which AB||DC and its diagonals infersect at O If
AD = (3x-1)em, OC={4x-1jom, BO=(2x+1jcm, and OD=(3x+1)cm then find the value of x.
D\ C
>
A B
&% Tr B d, ABCD w# ww=i3 2, s ABIIDC £ sz 79% Aot O =g g
g1z AO=(3x-1) &1, OC=(4x-1) &7, BO=(2x+1) &1 sz OD=(3x+1) a1
g, T X FT AT S A
D C
o
A E
(A)O 1
1
(B) O 2 (Correct Answer) (Chosen option)
2
(O 0
0
D)O 3
3
Question No.4 Marks: 1.00
Bookmark
What will be the compound interest on Rs. 8000 for 1.5 years at the rate of 10%, the
interest being compounded half yearly?
BTG § Ihqfs S W 10% HI & F 1.5 98 & 7T 8000 IUY TR Ahqle TSI T GRIT?
(A) O Rs. 2160
2160 >Uu
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(B) O Rs. 1620
1620 »Ud

(C) O Rs. 1621
1621 >4

(D) O Rs. 1261 (Correct Answer) (Chosen option)
1261 ¥UT

Question No.5 Marks: 1.00
Bookmark

In the figure attached , P and Q are the points on the sides AB and AC respectively of

A ABC suchthat AP=35cm. BP=Tcem, AQ =3 cm and QC = 6cm. If PQ =4.5 em find BC=?

gaTd 3&S A, P 3R Q. A ABCHT a3 AB 3R AC T & v fag § &t 39
TFR § & AP = 3.5 @6, BP = 7 &8, AQ = 3 3 3k QC = 6 & afZ PQ
=45 @ § BC= &t #ig fifae?

(A) O 13.5 cm (Correct Answer)
13.5 9

(B) O 13 cm (Chosen option)
13 94t

(C)O 125cm
12.5 it

(D) O 12cm
12 I+t

Question No.6 Marks: 1.00
Bookmark

The equation of horizontal tangent to the graph of the function y = e*+ e is:
Ha y = e+ e & WTH A &fdoT TR BT THH §:
(A)O y=-2
y=-2
(B) O y =2 (Correct Answer)
y=2
(C) O y =0 (Chosen option)
0

-1
-1

(D) O

<< <
nn

Question No.7 Marks: 1.00
Bookmark

Cards bearing numbers 3 to 20 are placed in a bag and mixed thoroughly. A card is
drawn out from the bag at random. What is the probability that the number on the card is

an even number?
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3 ¥ 20 AR 9T BT Dl Teh ST H AT ST § 3R ST aRe Foremn 91 g1 el U
Y N Y TP BIS Tl SI1dT g | T Wb § fob PTe TR TS, Tep T I 872
(A) O 1/3

1/3
B) O 1/4

1/4
(C)O 312

3/2

(D) O 1/2 (Correct Answer) (Chosen option)
1/2

Question No.8 Marks: 1.00
Bookmark
Let AB be a tangent drawn to a circle centered at C from a point A outside the circle.
Find the angle ABC.
AH o % AB, 30 & aTex fig A 9 C R $fsd T Ia & fae Widt 75 TR 51 HI0T ABC
BIGERY
(A) O 1200
120°
(B) O 90° (Correct Answer) (Chosen option)
90°
(C) O 60°
60°
(D) O 180°
180°

Question No.9 Marks: 1.00
Bookmark

Write the order and degree of the differential equation:

R i dy. 5
v xdx+a 1+[dx)

Waae gHEor 1 Sife 3t ga o

. J 4y 2
y de+a 1+[dx)

(A) O Order 1, degree 1 (Chosen option)
1, HId 1
(B) O Order 2, degree 1
DI 2, °1d 1
(C) O Order 2, degree 2
Difc 2, °1d 2
(D) O Order 1, degree 2 (Correct Answer)
1,49Id 2

Question No.10 Marks: 1.00
Bookmark

Find the coordinates of the point which divides the join of (7, 3) and (-3,-2) in the ratio
2:3 internally.
39 foig 1 RS 1 &, oY (7,3) 3R (-3, -2) BT 2: 3 F U H 3alRes =4 J
favIforg FRar g1

(A) O (3,-1) (Chosen option)

(3.-1)
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(B) O (1,3)

(1,3)
(C) O (3,1) (Correct Answer)

(3,1)

(D) O (-1.-3)
(-1-3)

Question No.11 Marks: 1.00
Bookmark
Represent the following situations in the form of a quadratic equation — Rohan’s mother
is 26 years older than him. The product of their ages 3 years from now will be 360. What
is Rohan’s present age?

s fgard TieRur & w0 # Fafafed fufaat o1 ufaffia ovd § - g7 &t af 3T 26
TSI 81 3! 31 HT OHHA 3F F 3 T4 §1¢ 360 81T A8 B IaHH 3T HT 872
(A) O x2+32x-273 =0 (Correct Answer)

x2+32x-273=0
(B) O x2+38x-273=0

X2 +38x-273=0
(C)O x2+32x+273=0

x2+32x+273=0
(D) O x2-38 x— 273 = 0 (Chosen option)

x%-38x—273=0

Question No.12 Marks: 1.00
Bookmark

In the given figure, the side of the rectangle is the diameter of the circle having radius 2 units. If

the area of the rectangle is 24 square units, then its sides are:

2772 SATH(T |, =T &l G, 2 THL (AT AT 99 & AT & FL92 | 12 A1 & G
24 7t ZHTE 7, 9T TAGT AT 2.

o

(A) O 2,4
2,4
(B) O 4,6 (Correct Answer) (Chosen option)
4,6
(C)O 2,12
2,12
(D)O 3,8
3,8
Question No.13 Marks: 1.00
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The coordinates of a point which divides the line joining the points P(2,3,1) and Q(5,0,4)
in the ratio 1 : 2 are:
T foig & =i S 1: 2 & U A fig P (2,3,1) 3R Q (5,0,4) & e areft Yar &
fauiord #vd &
(A) O (3,2,2) (Correct Answer)

(3,2,2)

Bookmark

Question No.14

Which term of the arithmetic progression 1,7,13,.............. is 737
TR Aot 1,713, BT PH-H1 UG 73 87

Ay O 10
10

(B) O 13 (Correct Answer) (Chosen option)
13

(C)O 12
12

(D)O M
1

Marks: 1.00

Bookmark

Question No.15

Determine the third term of the G.P, Whose common ratio is 3 and the sum to first 7
terms is 21867
ToiR Aot & dR U 1 Fuiko SR, e g 3/ uTd 3 ® 3R uge 7 Ul b1 ant
2186 872
(A) O 12

12

(B) O 18 (Correct Answer)
18

(C) O 27 (Chosen option)
27

(D) O 36
36

Marks: 1.00

Bookmark

Question No.16

B 2 3 ] are the matrices, then (AB"Y is equal to?

3 -
SlmdB=F o &

.5 -1 3 0 2 3 ”
aRA=[y [ SIIB=[ 7 1ARIWEA(AB)__ «&{
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ra

OO |7 s
[18 ?]
s 7

GENERAL SCIENCE - GENERAL SCIENCE

(Correct Answer) (Chosen option)

Question No.1 Marks: 1.00

Bookmark
Sonalika and Kalyan Sona are varieties of

THfTET 3R HeTor T ! fored € |
(A) O sugar cane
=
(B) O rice
Irad
(C) O pulses
adgd
(D) O wr_\eat (Correct Answer) (Chosen option)

Question No.2 Marks: 1.00

Bookmark
Equipotentials at a great distance from a collection of charges whose total sum is not
zero are approximately:

AR &1 AT GUT ForIhT 1l TNT I a1 & ST §8d gl IR THAHT THIHT &:
(A) O Parabolas

UR4clg
(B) O Planes

NEGKN]
(C) O Ellipsoids (Chosen option)

Y

(D) O Sphere (Correct Answer)

M

Question No.3 Marks: 1.00

Bookmark
A body of mass ‘m’ moves in a horizontal circle of radius ‘r’ at constant speed ‘v’ for one
complete revolution. Which of the following statements is INCORRECT?

S ‘m’ aTel U 908, TP Hgul UiehHu & fore fad ard v R Bedn v & o &fast
g B it S 31 Frafeiad 7 Q SH-a1 H e 72
(A) O The total energy of the body is constant.

fug ot dyuf Surf fad g1

(B) O The work done by the centripetal force is 2mv2 (Correct Answer)
AFUBE g g1 fomar T B1d 2mv? B

(C) O The angular velocity of body is directly perpendicular to the plane of circular
motion (Chosen option)

U &1 S 37T, gRitg ) & aa R A wead 3|
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(D) O The change in linear momentum of the body is zero.

foug & Qe 3§ uRadT g 8|

Question No.4 Marks: 1.00
Bookmark

Power in an electric circuit CANNOT be represented as:
T faggd uRuy & 2ifdd & ford e Fefua =18 fasar o v 82
(A) O 2R
I°’R
(B) O V2R (Correct Answer)

(C)O

[ ]

[ ]

#4714 5

(D) O VI (Chosen option)
VI

Question No.5 Marks: 1.00
Bookmark

Which of the following is sulphur containing Amino acid?
frafeiaa & ¥ SH-11 Tew gad ST 3 g7
(A) O Phenylalanine
U= a1 BiAeger=+
(B) O Proline
gifer

(C) O Cysteine (Correct Answer) (Chosen option)
R

(D) O Histidine

Question No.6 Marks: 1.00
Bookmark

Minimum number of carbon atoms present in a secondary benzylic alcohol will be
TS QIAHS (Fdhesl) SoSd SHehied H SURYd HTa- TRHATISH B gAdd T
Gl
(A) O 5

5
(B) O 6 (Chosen option)

6
(C) O 8 (Correct Answer)

8

DO 7
7

Question No.7 Marks: 1.00
Bookmark

Ampere’s law is to law, what Gauss’s law is to Coulomb’s law.
TRR &1 Y & a9 91 8, S TeY &1 g A & g gl
(A) O Biot-Savart (Correct Answer)

T Aae

(B) O Newton's
e
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(C) O Faraday's (Chosen option)
HrS

(D) O Maxwell's

Question No.8 Marks: 1.00

Bookmark
Depletion of which gas in the atmosphere can lead to an increase incidence of skin
cancer?

IRgHed B forg T & &R0 Y @ HAR g9 B gl §¢ Jhdl 872
(A) O Ozone (Correct Answer) (Chosen option)

(B) O Carbon dioxide
EACERERIEIER]

(C)O Hydrogen sulphide
elRglvld Helhlgs

(D) O Nitrous oxide
EIEEEICRIES]

Question No.9 Marks: 1.00

Bookmark
Which of the following organism is the smallest living cells and completely lack cell wall?

frafeiad & ¥ SH-31 siid Jad BI shfad HIRET § 8k T ave I Hifkresr Ry 3fga g2
(A) O é;aﬁ?

(B) O Amoeba
SrHtaT
(C) O Slime mould

TATRH eIl
(D) O Mycoplasma (Correct Answer) (Chosen option)

Question No.10 Marks: 1.00

Bookmark
The smallest value that can be measured by a measuring instrument is called:

T U1 UGN GRT ATAT S bl aTall Jad BIel A Heardl o:
(A) O Parallax (Chosen option)

[NESE!
(B) O Least count (Correct Answer)

3[eUdHIR

(C) O Precise value
URYS AF

(D) O Accurate value
g7 O

Question No.11 Marks: 1.00

Bookmark
Which of the following is a non-narcotic analgesic?

Frofifed & ¥ SH-91 T TR-ATeh GRS (AH-ARSIH THeolid) 82
(A) O Morphine

(B) O Paracetamol (Correct Answer) (Chosen option)

(C) O Codeine
DISH
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(D) O Heroin

Question No.12 Marks: 1.00
Bookmark

At TK for a chemical reaction A + By = 2Ciy 3 AG® =25kJ , What will the

value of AG® for the reaction 2C;, <Ay + By at the same temperature?

TK UY, U TaEtF Afammar Ay + By = 2Cg 3 AG° =25kJ.F forw amm

ATIH 9%, AATHRAT 2Cq S Ay + By & 6T AG® T 519 4T g
(A) O -25kJ (Correct Answer)

-25
B) O 25kJ

25 forerrea
(C)O -50kJ
-50 foretiolet
(D) O -0.04 kJ (Chosen option)

-0.04 foratio[dt

Question No.13 Marks: 1.00
Bookmark

Which of the following is the functional unit for absorption of digested food?
fafeiad & ¥ SH-11 12 g 1S & IR0 & e Hriied 3HhTs 82

(A) O Pyloric caeca
BIRKIIRES
(B) O Vermiform appendix
Xt o
(C) O Brunner's glands
or

R
(D) O Villi (Correct Answer) (Chosen option)

Question No.14 Marks: 1.00
Bookmark
Scientific names are generally taken from language.
IS M, SR W YT ¥ forg 91 5

(A) O German
SLE]
B) O Hindi
(C) O Latin (Correct Answer) (Chosen option)

(D) O Sanskrit
g¥pd

Question No.15 Marks: 1.00
Bookmark
Which alkyne will produce aldehyde by hydration in presence of HgSO4 and H,SO4?

DIF-9T1 TedbT3d HgSO,4 3R H,S0, Bt IufRUfA T Serdio gRT UfeSeIgs &1 Idre
DHAM?

(A) O Hex-2-yne
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BH-2- 31T

(B) O Ethyne (Correct Answer)
LLIEN]

(C) O But-2-yne (Chosen option)
Z-2-31%1

(D) O Propyne

Question No.16 Marks: 1.00
Bookmark

Which of the following element is required for the growth of root tip?
frafaRad o 9 forg dd @1 SiTaRashdl wc feU &t 3i 8q 8l o2

(A) O Calcium (Correct Answer) (Chosen option)

%*

(B) O Iron

a

(©) O Zinc

g

(D) O Potassium

i

Question No.17 Marks: 1.00
Bookmark
Resistance of 0.1M NaCl aqueous solution at 298K is 50 ohm . What is the value of
conductance of this solution?

%QSKCROJM NaCl Seitdr faerae &1 ufeRkiy 50 31iH 81 39 faa & el ol | ol
?
(A)O 50S

50 S

(B) O 0.01 S (Chosen option)
0.01S

(C)O 28
28

(D) O 0.02 S (Correct Answer)
0.02S

GENERAL APTITUDE - GENERAL APTITUDE

Question No.1 Marks: 1.00
Bookmark
Out of three consecutive odd numbers, the sum of the first two is 39 more than third
number. The second number is:
1 HArTa faww TReett & ¥, ugd &l BT AR Rt WRe ¥ 39 3w 71 gust W B
(A) O 47
47

(B) O 43 (Correct Answer) (Chosen option)
43

(C)O 45
45

(D) O 41
41

Question No.2 Marks: 1.00
Bookmark

If in a certain code 94307 is written as WVRHK and 68251 as QUPLG, then how will
90561 be written in the same code?
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Ife T M ®Ie & 94307 B WVRHK & TU H 3R 68251 B QUPLG & ¥U & forar
SITdT 8, )l UM Bie & 90561 BT b fordT SIem?
(A) O GHQWL

GHQWL

(B) O WHLAQG (Correct Answer) (Chosen option)
WHLQG

(C) O WHGQL
WHGQL

(D) O LQGHW
LQGHW

Question No.3 Marks: 1.00

Bookmark
Evaluate the compounded ratio of 2:3; 9:4; 5:6 and 8: 10.
2:3:9:4;5:6 3R 8: 10 & Y (FUSST) U HT HedTH HR?
(A) O

Question No.4 Marks: 1.00
Bookmark

Complete the series choosing the missing letter/s:
CX, FU, , LO, OL, RI

T 31&R/31ERT BT T B g ST DI T e
CX, FU, ,LO, OL, RI
(A) O FU
FU
(B) O RL
RL
(C)O RI
RI

(D) O IR (Correct Answer) (Chosen option)
IR

Question No.5 Marks: 1.00

Bookmark
An interval of 8 hours 40 minutes is wrongly estimated as 8 hours 45.5 minutes. The
error percentage is:

8 °< 40 e & SIRTA B! TTed dib ¥ 8 °e 45.5 e & w0 H w1 far S g1
g@ﬂﬁ"x’lﬁ%
(A) O 1.50%

1.50%

(B) O 1.05% (Correct Answer)
1.05%

(C)O 1.40%
1.40%

(D) O 1.04% (Chosen option)
1.04%

Question No.6 Marks: 1.00
Bookmark
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Find the average of the following set of numbers:
200, 95, 105, 130, 140.

frafafea demsl & de & ofid &I J1d B

200, 95, 105, 130, 140.

(A) O 134 (Correct Answer) (Chosen option)
134

(B) O 130
130

(C)O 136
136

(D) O 132
132

Question No.7 Marks: 1.00

Bookmark
The respective ratio of Mohan’s age and his son’s age is 7:2 and the product of their
ages is 504. The ratio of their ages after 6 years will be:

T BT MY BT 30 T BI 31T T YT 3UTd 7:2 § 3R I 3G HT UAHS 504 g
6 98 & §IG 3! 31 HI U I

(A) O 8: 3 (Correct Answer) (Chosen option)

:3

(B) O
(€)O

(D) O

WW WW NN 0o
0o NN WWw

Question No.8 Marks: 1.00

Bookmark
If the CP of 40 items is equal to the SP of x items and there is a profit of 33.33%, find the
difference between 40 and x.

& 40 TGN BT HT G, x TGS & fhd Jo & SRIeR § SR IHT AT 33.33% HI g, dl
40 3R x & &9 BT 3R J1d B
(A) O 10 (Correct Answer) (Chosen option)

10

(B) O 20
20

(C€)O

3
3
D)O 9
9

Question No.9 Marks: 1.00

Bookmark
In a code if BRIM is written as EVNS, what is CARE written as?

T Dl § gfc BRIM &I EVNS forar Sirar g, df CARE &1 & ¥g ¥ foran
ST |
(A) O FDWL

FDWL

(B) O FDVI
FDVI

(C) O FDVH
FDVH

(D) O FEWK (Correct Answer) (Chosen option)
FEWK
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Question No.10 Marks: 1.00
Bookmark

If C.P.is Rs. 18,000 and S.P. is Rs. 10,000, then find the loss percent.
& 9 Yo 18,000 ¥UT g 3R a6 T 10,000 ¥TT & | a0 BT UFA=IG A1 Hifor?
(A) O 22.22%

22.22%
(B) O 33.33%

33.33%
(C) O 35.33%

35.33%

(D) O 44.44% (Correct Answer) (Chosen option)
44.44%

Question No.11 Marks: 1.00

Bookmark
The average daily expenditure of a person for the first five days is Rs. 120 and for the
next four days in Rs.80. If he has saved Rs.25 during the period of 9 days, his daily
average income is:

UyH uig et & fore, Ues sufad &1 3iad ¢ T 120 3UT 3R 3ATa =R f&t & forw 80
gqq%mﬁwﬁgﬁﬁﬁmﬁ$aﬁmzsmﬁwﬁ%ﬁwﬁ%ﬁm&ﬁw&m

(A) O Rs.945
945 2UUq
(B) O Rs.920
920 >UU¢
(C)O Rs.9
9®UU
(D) O Rs.105 (Correct Answer) (Chosen option)
105 ¥U¢

Question No.12 Marks: 1.00
Bookmark
Ramakant can finish a work in 28 days and Sushil can do the same work in half the time
taken by Ramakant. When working together, what part of the same work they can finish
in a day?
G U B Bl 28 &1 H T HR Tl § SR R, I0Th1d gRT fobd T e & o)
T R Il ¢ | TP 1Y HTH XA 9, I8 BRI & fba o 1 d T fa § foan
R IR GHd 82
(A) O 3

28
3

28
B O 44

(Correct Answer)

_8 (Chosen option)
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DO 4

Question No.13 Marks: 1.00

Bookmark
What is the distance covered by a man cycling at 6.4 km/h in 45 minutes?

45 fire o 6.4 foHi/ee & 91 ¥ Ue aafad Ifed Tard g frd=t gt 99 ora1 82
(A) O 3.6 km
3.6 fotit
(B) O 4.2 km
4.2 foouit
(C) O 4.8 km (Correct Answer) (Chosen option)
4.8 foiit
(D) O 2.88 km
2.88 fopit

Question No.14 Marks: 1.00

Bookmark
The series given below contains a sequence of numbers. Accordingly identify the
INCORRECT combination
3,2,2,3,7,35

T € TS ae | Senell BT Ud S H § | dagaR Tad Sale S Ugdr By |
3,2,2,3,7,35
(A) O 35 (Chosen option)
35
B)O 3
3

(C) O 7 (Correct Answer)
7

(D)O 2
2

Question No.15 Marks: 1.00

Bookmark
Complete the series choosing the missing number:
3,12,27,48, _ , 108, 147.

T =T BT I DR §U YA D! IR Py
3,12,27,48, 108,147,
(A)O 72

72

(B) O 70
70

(C) O 75 (Correct Answer) (Chosen option)
75

(D)O 74
74

Question No.16 Marks: 1.00

Bookmark
Two numbers are in the ratio 2:3. If 5 is added to both the numbers the ratio becomes
5:7. Find the bigger number.
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3 T 2:3 & U B &1 A g1 SReaf § 5 &1 oite faan Sirdn 8 df 3UTd 5:7 81 S
21 TSt TeT I1d HifoTg |
(A) O 20

20

(B) O 40
40

(C) O 30 (Correct Answer) (Chosen option)
30

(D) O 60
60

Question No.17 Marks: 1.00

Bookmark
A basket contains 8 red, 5 blue, and 5 green balls. If 2 balls are drawn at random from
the basket, what is the probability that both are red?

TH S T 8 A1, 5 et 3R 5 8 TP 1S gl 81 3fe 2 7S Ap<t T urefdss wu 3
fRopTeht Siet &1 @t o wiiedn g fob <t e & g2

(A) O 28
153

(Correct Answer) (Chosen option)

28
153

(B) O 153
14

153
14
(C)O 14
153

14
153

D) O g3
28
153
28

SADO - SADO

Question No.1 Marks: 1.00

Bookmark
There are 11 agro-climatic regions and 5 crop zones in

# 11 P-STqaraias & 3R 5 HId &7 5 |
(A) O Uttar Pradesh
JR U
(B) O West Bengal
BRG]
(C) O Tamil Nadu

GIERELS]

(D) O Madhya Pradesh (Correct Answer) (Chosen option)
HH UG

Question No.2 Marks: 1.00

Bookmark
The value of Solar Constant is:

IR RRIH &1 AA o
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(A) O 1.95 callcm?/min (Correct Answer)
1.95 AR R

(B) O 1.94 Watts/m? (Chosen option)
1.94 gic/H2

(C) O 1353 Callcm?2/min
1353 AR/

(D) O 2.94 callcm?/min
2.94 FARRAH2/fAe

Question No.3 Marks: 1.00

Bookmark
Kaolinite is type mineral.

Hafiferrsge TSR BT J 5|
(A) O 2:1limited expanding
2:1 Giffd gt (fies o)
B) O 2:1:1
2:1:1
(C) O 2:1 expanding
2:1 TRIRT (TRTUTE)
(D) O 1:1 nonexpanding (Correct Answer) (Chosen option)
1:1 YR (ATTCFTUTS)

Question No.4 Marks: 1.00

Bookmark
“Protecting, restoring and enhancing India's diminishing forest cover and responding to
climate change” is related to:

“UYRd & ged g TR0 &1 IR BT, TR HAT1 3R ST Ud Saarg uRad=
Srgfopar ey T g
(A) O Silviculture

ST

(B) O Green India Mission (Correct Answer) (Chosen option)
W= oo fimm

(C) O Afforestation
CRIERU

(D) O Agriculture

Question No.5 Marks: 1.00

Bookmark
Which one of the following is the objective of Rain Water Harvesting?

frafaRad & & SH-91 auf oid S99 BT I6=4 57
(A) O To wash cloths

PHUS YT
(B) O To play with the water

ENERCREI

(C) O To use during the scarcity of water (Correct Answer) (Chosen option)

T B HU F SR ITINT HAT

(D) O To pour the rain water directly to the sewage

SN & o DI WY aifgd A (Hiador) T STe

Question No.6 Marks: 1.00

Bookmark
Which of the following irrigation method is used to protect plants from spring freezes?
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?Hﬁf@ﬁﬁ@fﬁ?—%ﬁﬁiﬂ%ﬁfﬁﬁﬁﬁﬂ(@h%)@ﬁﬁ%ﬁﬂ@@ﬂaﬁaﬁﬁ
?

(A) O Sprinkler (Correct Answer) (Chosen option)
PR (BidR)
(B) O Furrow
T (W)
(C) O Drip
U ()
(D) O Flood
dle (%)

Question No.7 Marks: 1.00
Bookmark
Which of the following is known as Wood Sugar?

frafaRed & 9 fod 18 A6 (T8 FR) & A I ST oI1dl 872
(A) O Glucose (Chosen option)
B) O Xylos.e (Correct Answer)
(©) O Mannose
EEIR

(D) O Arabinose
SRS

Question No.8 Marks: 1.00
Bookmark
Plant disease, Citrus Canker is caused by:
79 B AR, TR FHR TP SR BN &
(A) O Virus
arRy
(B) O Fungus
IR
(C) O Bacterium (Correct Answer) (Chosen option)

(D) O Nematode

HIerS

Question No.9 Marks: 1.00
Bookmark
Total root parasite on tobacco is:
P RPATS W gl
(A) O Datura
YR
(B) O Withania
fqurfan
(C) O Parthenium

s

(D) O Orobanche (Correct Answer) (Chosen option)

Question No.10 Marks: 1.00
Bookmark
First hybrid rice variety was developed in .
UYH YH R T1ad HI foer 7 faefyd &t T3 ot
(A) O China (Correct Answer) (Chosen option)
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Clk|
B) O Phillipines

(©) O Thail.and

(D) O India
YRd

Question No.11 Marks: 1.00
Bookmark
Which bacteria is responsible for denitrification in N, cycle?

N, Th H g iesRr 3 forw i--a Sadifvar RmieR grar 82

(A) O Nitrobacter

~

(B) O Rhizobium

(C) O Nitrosomonus

~

(D) O Bacillus subtilis (Correct Answer) (Chosen option)

Question No.12 Marks: 1.00
Bookmark
If we take crop rotation of ground nut-wheat-sugarcane in two years, then the crop
rotation intensity is .
3R B9 &1 Y H TG e-TE-TTHT BT HUd I (1Y JCTH) od & ol BId dgh Te-dT (1a
e R gl
(A) O 300%
300%
(B) O 200%
200%
(C) O 150% (Correct Answer) (Chosen option)
150%
(D) O 100%
100%

Question No.13 Marks: 1.00
Bookmark
Cultivation of two or more crops simultaneously on the same field without distinct
(definite) row arrangement is known as:

fomT serT (FRifgra) dfed e & T g1 &9 R Ud 9 &l a1 a1 ¥ TS Baal & Wdl bl
9 YR I ST I B
(A) O Relay cropping
ad
(B) O Double cropping
I

(C) O Ratoon cropping

I BYA
(D) O Mixed cropping (Correct Answer) (Chosen option)

L

Question No.14 Marks: 1.00
Bookmark
Under the rainfed condition of Madhya Pradesh, is grown successfully
with guava (Variety L-49) for 3 years.
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e TR H1 aul HTeTia fRufa & dg, B 3 I & AW 3ee (ATt
TA-49) & Y THAAYdDH ST STl ¢ |
(A) O maize
HoDhT
(B) O rice
grdd
(C) O mustard (Correct Answer) (Chosen option)

(D) O barley
Sit

Question No.15 Marks: 1.00
Bookmark
The navigation system based on a network of satellites that helps users to record
positional information is referred as

YR P Jead W IR AR JoTe o Sud T aten @) R deieh Srepr) ReptS
B T g BT ], B F =U § Yeffa fear sar g1
(A) O GPS (Correct Answer)

B) O GIS
Ell
(C) O GPRS
IR
(D) O Remote sensing (Chosen option)
g da
Question No.16 Marks: 1.00
Bookmark
Dark green, yellow and orange-colored vegetables and fruits are rich in .
TER &Y, Uit SR ARt 31 ot wfesrat 3R vt # IR I B
(A) O proteins
(B) O omega-3-fatty acid
3AT-3-Bet TRy
(C) O carbohydrates
(D) O beta carotene (Correct Answer) (Chosen option)
Question No.17 Marks: 1.00
Bookmark
The common crop sequences of Madhya Pradesh are:
A USR & AR Hd HH §
(A) O Soybean — Wheat and Soybean — Gram (chickpea) (Correct Answer)
(Chosen optlon)
3R T - T4 (B1R)
(B) O Jute — Vegetable and rice — Chari
SIC - ool 3R A1ad — - A1 IRy
(C) O Maize — Wheat and Jute — Gram (chickpea)
P! - T 3R ¢ - I (BI)
(D) O Jute — Wheat and Rice — Rapeseed
Question No.18 Marks: 1.00
Bookmark
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Which of the following is NOT an atmospheric hazard?

Fafafed § 9 1H-91 U agHSd TRl Ta 67
(A) O Heavy rainfall
Y} auf

(B) O Hailstorm

Sfrege

(C) © Human epidemic (Correct Answer) (Chosen option)
AT TgTHRY

(D) O Hurricane
qmr

Question No.19 Marks: 1.00
Bookmark
National Institute of Disaster Management is located at:

ST SHTUET Feit SR ol Rd 572
(A) O Chennai (Chosen option)

(B) O New Delhi (Correct Answer)
(C) O Kolkata

DIADIAI
(D) O Bhopal

Question No.20 Marks: 1.00
Bookmark
Satellite Remote Sensing is based on the Principle of:

Jeage A IR P Rigid w numiRkd g1

(A) O Transmission

(B) O Refraction

3uad

(C) O Reflection (Correct Answer) (Chosen option)

(D) O Absorption
SR

Question No.21 Marks: 1.00

Bookmark
In control measure a predator is used to control pests.

o §, it ol Frifad w3 & o 1 R o1 swAT far Jrar g
(A) O chemical
BRI Ca

(B) O biological (Correct Answer) (Chosen option)
(C) O physical
1w

(D) O mechanical

Question No.22 Marks: 1.00

Bookmark
Buttoning in cauliflower is caused by the deficiency of

o | gef DI HH & HRU G g
(A) O N (Correct Answer) (Chosen option)
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N

(B) O Fe
Fe

(€O K
K

(D) O Mo
Mo

Question No.23 Marks: 1.00
Bookmark

Participation rate of women in Agricultural sector is highest in tea cultivation and it is
nearly ercent.

p
P & 7 Afgarst @ UReRt @R, 919 ©) Tt T T 31w § 3R T8 U
yfa=d 2|
(A) O 25
25

(B) O 42
42

(C)O 37
37

(D) O 47 (Correct Answer) (Chosen option)
47

Question No.24 Marks: 1.00
Bookmark

Which group is required for chlorophyll synthesis?
FARIG T YT & foT forg T o1 a<adhd gidt 872
(A) O Mo, Ca

Mo, Ca
(B) O Cu,Ca

Cu, Ca
(C)O Ca,K

Ca, K

(D) O Fe, Mg (Correct Answer) (Chosen option)
Fe, Mg

Question No.25 Marks: 1.00
Bookmark

Which grain is said to be a poor man's food?
{4 SIS &1 TRIT fad BT HISH gl ol 52
(A) O Maize

Hahl
(B) O Ragi (Correct Answer) (Chosen option)

(C) O Jowar
AR
(D) O Bajra
EISH

Question No.26 Marks: 1.00
Bookmark

The genome length of diploid rice (Oryza sativa) 2n = 24 is nearly .
feIfora araa (3RS JfeaT) 2n = 24 B SN QT8 THTHT 2l
(A) O 0.4 Mb (Megabase)
0.4 Mb (?fivre)
(B) O 2.4 Gb (Gigabase) (Chosen option)
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2.4 Gb (THTIE)
(C) O 0.2 Gb (Gigabase)

0.2 Gb (THTIE)

(D) O 0.4 Gb (Gigabase) (Correct Answer)
0.4 Gb (FTRTTE)

Question No.27 Marks: 1.00
Bookmark
Yellowing of tea leaf is due to deficiency of:

I B Ul A o fge! vt & HRU g B
(A) O Calcium
Fferray

(B) O Nitrogen

(C) O Potassium
grefRrm

(D) O Sulphur (Correct Answer) (Chosen option)
Hebr

Question No.28 Marks: 1.00
Bookmark
As per 2020, there are a total of regulated markets (KrishiUpajMandi +
Sub-Mandi) in Madhya Pradesh.
2020 & IR, IIHH & A U & Ha fafafid IeR (@ Iuw
T + Iu-HE B
(A) O 289 (Chosen option)
289
(B) O 257
257
(C) O 646
646

(D) O 546 (Correct Answer)
546

Question No.29 Marks: 1.00
Bookmark
The main objectlve of Integrated Pest Management (IPM) is:
THIPHd Bic JaEH (SATSUITH) BT T8 I35 o
(A) O Keeping pest populations below injurious levels (Correct Answer) (Chosen
option)
GIRATS TR A HH Bl Pt TG DY 3@
(B) O Strengthening the host
TSIEH B AT ST

(C) O Increasing natural enemies of the pest

DIc & Ted Wdldd T

(D) O Billing the pests
DIt B fafeim

Question No.30 Marks: 1.00
Bookmark
SENSAGRI Project is related to
Jamftoider . ddfRas
(A) O Insurance of Agricultural Products
DIV IATG! BT ST

(B) O Pension of Farmers

mppeb_kkkv.onlineregistrationform.org:8660/QP1/0s2sdLBmXILgCvmqzolMcg==.html 35/53


https://applink.adda247.com/d/XhqWf9lSap

Adda247

2/17/2021 View Question Paper
ICRIGICANRE]

(C) O Drone Based Agricultural Technology (Correct Answer) (Chosen option)
S smeTid Y menfrast

(D) ©O Women based Agriculture

afen snea H1Y

Question No.31 Marks: 1.00
Bookmark

Injury caused by high temperature on the sides of bark is known as
BT b BIRI IR I ATUHH & BRI AT Bl % ST A o A 2|
(A) O sun scorch

T Wb
(B) O stem burning

Wy g+ T
(C) O sun scald (Correct Answer) (Chosen option)

A IpIcs
(D) O stem girdle

WH TS

Question No.32 Marks: 1.00
Bookmark
The optimum temperature range for sowing of wheat is:
g ) gaTS & 1T svad aruHE der g
(A) O 25-30 degree Celcius
25-30 f&t Sfcrag

(B) O 15-20 degree Celcius
15-20 f&3 Tfcuay

(C) O 10-15 degree Celcius
10-15 Ut Ay

(D) O 20-25 degree Celcius (Correct Answer) (Chosen option)
20-25 f$3t Afcaaw

Question No.33 Marks: 1.00
Bookmark
Which facility has been created for refinance assistance for small irrigation, IRDP, dairy
development and mechanisation of farms at national level?

a%q , TSRS, ST fawrr $ik Wl & w=fiieur & forg Afda
m*ﬁﬂ < gfaer a7 7 22
(A) O National Rural Credit Fund

RIS Ao BT e

(B) O National Credit Stabilisation Fund
RIS BT R0 DIy

(C) O Rural Infrastructure Development Fund (Correct Answer) (Chosen option)
YTHIOT STURYA I AP S

(D) O National Credit Fund
gt v AR

Question No.34 Marks: 1.00
Bookmark
In 1943, Bengal famine was caused by:
1943 H, ST T 3fehTd] fdrddh HIRUT T AT:
(A) O Brown spot of rice (Correct Answer) (Chosen option)
qrad 1 Y3 fasit
(B) O Wheat leaf rust

g Ui fobg (dith )
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(C) O Rice sheath blight

Trad ¥ 2ty e
(D) O Wheat smut

g ¢

Question No.35 Marks: 1.00
Bookmark

A 'head' or 'capitulum' is characteristic of .
& 7S U1 'HiUgaH, & AL BId & |
(A) O Asteraceae (Correct Answer) (Chosen option)
(B) O Cucurbitaceae
(C) O Poaceae

grat

(D) O Brassicaceae

Question No.36 Marks: 1.00
Bookmark
Which one of the following is an example of a composite variety of maize?
frafared § 3 DF-91 T9w! 31 ffd fafded &1 1 Iareu g2
(A) O Paras
URY
(B) O Himalayan 123

ferTaaT 123

(C) O Vijay (Correct Answer) (Chosen option)
fasra

(D) O Ganga4
4

Question No.37 Marks: 1.00
Bookmark
Availability of is much less to plants due to flooding.
¢ & PR Ui & forg P! JUARIAT Igd HH B
(A) O iron
SIERA
B) O oxygen (Correct Answer) (Chosen option)

(C) O hydrogen

(D) O carlgon dioxide
DI SIFHRTS

Question No.38 Marks: 1.00
Bookmark
Sharbatiis a famous variety grown in Madhya Pradesh.

IR AL TR H IS o aTelt b URis @ fre B
(A) O arhar (pigeon pea)

SER (3R ale)
(B) O soybean

BIRICIE]

(C) O rice
Irad

(D) O wheat (Correct Answer) (Chosen option)
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Question No.39 Marks: 1.00
Bookmark

Vertical suction of plough influences .
B BT HeaER TaRH I JIfad T 8|
(A) O pulverization of sail

foret & of
(B) O width of cut

HC DI AT
(C) O tillage direction

s 1 fa=m
(D) O depth of cut (Correct Answer) (Chosen option)

HT PI TS

Question No.40 Marks: 1.00
Bookmark
The numbers of Land Capability Classes are
fr e ol oY Tem gl
(A) O 10
10
(B) O 8 (Correct Answer) (Chosen option)
8

(C)O 15
15

(D) O 21
21

Question No.41 Marks: 1.00
Bookmark

Growing two or more crops annually from same piece of land in such a way that one
crop is sown immediately after or just before the harvest of the previous crop is known

@%wmwmﬁw%a’rma‘r@r HfYF e 3T UHR I & [ T HId &bl
U ad & qRd a1 T ST RATSASAISAT, & w9 H 1 o1 g
(A) O Intensive cropping

e Bad
(B) O Relay cropping (Correct Answer) (Chosen option)

e waa
(C) O Multiple cropping

i
(D) O Double cropping
Had

Question No.42 Marks: 1.00
Bookmark
If a country plough is working at a speed of 3 Kmph and cutting soil 20 cm deep and 20
cm wide-furrow at the top then the volume of soil cut in 4 hours is

afe U 3o &1 3 bl Ufd) B2 @Y Tl @ I @ TeT & SR T TR 20 A Te AR 20
@ﬁ%ﬁe‘?ﬁ@mw%a‘maﬁ*ﬁaﬁgﬁﬁ@ww gl

(A) O 240 m3 (Correct Answer) (Chosen option)
240 #P3

(B) O 220 m3
220 I3

(C)O 250 m3
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250 H3

(D) O 200 m3
200 I3

Question No.43 Marks: 1.00

Bookmark
The tool that can handle stubble burning efficiently is

I8 IYHRYT S R ST (T SFHT) B ST § GH TS, a8 B
(A) O decorticator (Chosen option)

(apifidher)
(B) O combine harvester

HATS BTawex

(C) O baler (Correct Answer)

(D) O field cultivator
&7 WclleR (Ples HeeldeR)

Question No.44 Marks: 1.00

Bookmark
is known as the "Father of Green Revolution in India".

1 "YRd B gRd Hifd & e & =Y & ST o1l 8|
(A) O M.S. Randhawa
TH.TY. YTl
(B) O N. Borlaug
T, IRANT
(C) O P. Matthew
b fg

(D) O M.S. Swaminathan (Correct Answer) (Chosen option)
TH. Q. TS

Question No.45 Marks: 1.00
Bookmark
The first Agriculture Census in India was conducted in .
HRd H Ugelt BN ST0HET a8 o SfTd &t 718 2t
(A) O 1990-91
1990-91
(B) O 1970-71 (Correct Answer) (Chosen option)
1970-71
(C) O 1950-51
1950-51
(D) O 1960-61
1960-61

Question No.46 Marks: 1.00

Bookmark
Which of the following does not belong to Solanaceae?

fafafed & ¥ SH-1 Sa-t § Jaftrd T8t 82
(A) O %r_::[rﬂal

(B) O Tobacco

GLSIEY
(C) O Sugar beet (Correct Answer) (Chosen option)

R die ({e1 gher)
(D) O Potato
S31Te]
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Question No.47 Marks: 1.00

Bookmark
When some fruits emit , it causes other fruits to ripen.

SEFEHA__ Icfoid HRd ¢, al ST GER el Uh @d §
(A) O carbon dio>§jde
SIEEICRIES]
(B) O ozone
3o

(C) O oxygen

(D) O ethylene (Correct Answer) (Chosen option)

Question No.48 Marks: 1.00

Bookmark
The pH of alkali soil is .

&g T &1 died g el
(A) O <8.5
<8.5

(B) O >8.5 (Correct Answer) (Chosen option)
>8.5

7

7

2

2

-3
-3

Question No.49 Marks: 1.00

Bookmark
There is a viable and sustainable business opportunity in Indian Agribusiness because
nearly of the Indian population is employed (either directly or indirectly)
in the agriculture sector.

YR HY sgaur & T Sgaer 3R fhTe: SHadg &1 ¥R § Fifs YR SaTet &1
T P & T BT (T T 3T ¥ ) B
(A) O one-fourths
Th-TNUTS
(B) O two-thirds (Correct Answer)
qi-farers
(C) O half (Chosen option)
ST
(D) O one-thirds
ueh-faers

Question No.50 Marks: 1.00

Bookmark
Which one of the following is NOT a PRA technique?

frafefad & @ B1H-W e deRy deb-ic T8l 82
(A) O Transect walk (Chosen option)
4REEICY
(B) O Venn diagram
o 3RE

(C) O Resource mapping
At

(D) O Mind Mapping (Correct Answer)
HIgS
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Question No.51 Marks: 1.00
Bookmark
In rice, the fertilizer recovery efficiency of N ranges from:
I1adt H, N B Ideb Rebasl qefa B Bl
(A) O 80-90%
80-90%
(B) O 40-60% (Correct Answer)
40-60%
(C) O 20-30%
20-30%
(D) O 61-70% (Chosen option)
61-70%

Question No.52 Marks: 1.00
Bookmark

When a greenhouse is placed against the side of an existing building, it is called:
9 folt HiS[eT SHRA & R gRAE (HHRTSw) A1 ST &, < I FHel oIl &:
(A) O Even span type greenhouse

3 W (F9M fIR) <8y WHsey
(B) O Uneven span type

3%a W (3GHM faWR) <15y
(C) O Lean-To type greenhouse (Correct Answer) (Chosen option)

H-g T8y
(D) O Ridge and furrow type greenhouse

BRI TRy

Question No.53 Marks: 1.00
Bookmark
In Madhya Pradesh, the total area under shade net house and poly houses are

AL YW H, TS ¢ 813 3R UTell 8139 P d8d ool &ha g
(A) O about 50 ha
TTHT 50 BICAR
(B) O about 300 ha (Correct Answer) (Chosen option)
T 300 §FAR
(C) O about 10 ha
TTHT 10 IR

(D) O about 1000 ha

TTHIT 1000 TFIR

Question No.54 Marks: 1.00
Bookmark
Epidemic dropsy is caused by the adulteration of edible oil with the seeds of the weed
called

SHUfG® SR (TUSTH® SIW), TR ad ® 39 BRUAR diell & A1y [Hdae & HRUT
gae e__ @edgl
(A) O Calotropis sp
FArCIUY Todt
(B) O Parthenium hysterophorus
7
(C) O Argemone mexicana (Correct Answer) (Chosen option)

TSI
(D) O Sorghum halepense
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Question No.55 Marks: 1.00
Bookmark

In India, Agriculture is mainly dependent on

YR H, HNY T =0 § R R HA g
(A) O crop demand
A P AN

(B) O air temperature
arg dgHe
(C) O rainfall (Correct Answer) (Chosen option)

(D) O market price
IR oI

Question No.56 Marks: 1.00

Bookmark
Headquarter of Central Bureau of Narcotics is located at

& HE IR BT TATTT o fRya gl
A) O Mandsaur

(B) O Gwalior (Correct Answer)
(C) O Bhopal (Chosen option)
Higre

(D) O Ujjain
IeH

Question No.57 Marks: 1.00

Bookmark
One of the important recent tool for better land capability classification is:

YR YW emar arffeRur & forg Heayu! giferar Iua=on df § U ?

(A) O Android phone
Tgs B

B) O Remote_ S_ensing (Correct Answer) (Chosen option)

(C) O Computer
e CN

(D) O X-ray
TH-Y

Question No.58 Marks: 1.00

Bookmark
Amino acid that accumulates in plants as a result of moisture stress is:

T T19 & URUMTATR=T el & ST 819 aTer ifEE uRrs =
(A) O Histidine

(B) O Methionine (Chosen option)
EIRuicic]
(C) O Proline (Correct Answer)

(D) O Cysteine

Question No.59 Marks: 1.00
Bookmark

Which of the following state is known as “Food Bowl of India”?
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Fafiied & I fd I &1 YR &1 AT HERT (B8 T30 3 S ST) HgT il 872
(A) O Madhya Pradesh
e TR

(B) O Punjab (Correct Answer) (Chosen option)
LI

(C) O Karnataka

(D) O Kerala
Hd

Question No.60 Marks: 1.00
Bookmark
The paper "Experiments in Plant Hybridization" written by was first
published in the year 1866.

SR fafad TR "TRTURH Y 37 Wi gfoego " Ugd! aR ay 1866 H
TepTIRIC gl Tl

(A) O J.B.Lamarck
Sl ot T

(B) O C. Linnaeus
1. ferfrer

(C) O G. Mendel (Correct Answer) (Chosen option)
ot dsa

(D) O C. Darwin
0. sifd=

Question No.61 Marks: 1.00

Bookmark
The average landholding of small farmers in India is:

YR & BIC ol &1 i d YHYR 6:

(A) O 4-10 ha
4-10 BFRW

(B) O 1-2 ha (Correct Answer) (Chosen option)
1-2 W

(C)O 2-4ha
2-4 TR

(D) O Lessthan 1 ha

1 gIW Y HH

Question No.62 Marks: 1.00

Bookmark
Rhizobium culture is used as in pulse cultivation.

%rraa%@?ﬁﬁrrgﬁﬁﬁmwww & =0 H fHar S
|

(A) O biofertilizer (Correct Answer) (Chosen option)

W9 SRP

(B) O complex fertilizer
Hpd IRD

(C) O straight fertilizer
WY IRD

(D) O organic fertilizer

Question No.63 Marks: 1.00
Bookmark

Which of the following is the site of oxidative electron transport in cell?
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R & A S-SR § sfaiiafd saaer uitaed &1 @e 22
(A) O Chloroplast

BRA AP (FRIWRT)
(B) O Cytoplasm

DIRIBIEH (HTSCIRITTH)

(C) O Mitochondria (Correct Answer) (Chosen option)

GABTTRT (HISCIPI31)

(D) O Nucleus

Hsdh (™)

Question No.64 Marks: 1.00
Bookmark

is used as an effective bio-pesticide for its fungicidal, herbicidal and
insecticidal properties.

BT IUTNT SUP BB, YMHRN SR PRI 07 & e Th gHTdt Sig
DleAS & =0 § fbar S g
(A) O Chlorpyrifos

(B) O Phorate
BRT

(C) O Clove oil (Correct Answer) (Chosen option)
TP ad

(D) O Roundup
I3S3U

Question No.65 Marks: 1.00

Bookmark
Which one of the following is an organism that relies completely on dead matter?

frafaRed & 9 SH-31 U offd § off Tt @R 9 9d Uard = AR o g2
(A) O Facultative saprophyte (Chosen option)
CEIRED

(B) O Obligate saprophyte (Correct Answer)
Jiiile
(C) O Facultative parasite

EEARCRREICil
(D) O Obligate parasite
3lectie

Question No.66 Marks: 1.00

Bookmark
is NOT a tractor drawn tillage implement.

TP ¢ae I g aTel Jarg | @A aral el g |

(A) O M B Plough
T g
(B) O Disc Plough
&% gd
(C) O Rotavator
RIcTde}
(D) O Country Plough (Correct Answer) (Chosen option)
&t g a1 &M g

Question No.67 Marks: 1.00

Bookmark
The optimum seed rate of soybean is 55-65 kg/ha with a spacing of

Qe Y Span gt €% ¥ 3R B Y 55-65 RpATITH/ZFRW a1l &
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(A) O 50-60 cm
50-60 THT

(B) O 15-20cm
15-20 TH

(C) O 30-45 cm (Correct Answer) (Chosen option)
30-45 9

(D) O 20-25cm
20-25 JHt

Question No.68 Marks: 1.00

Bookmark
The combine harvester performs different operations like:

P gIa%eR At TR yefiid Hrar g, S
(A) O Cutting (reaping) and threshing

wieT (St 3R ARG
(B) O Threshing and cleaning or winnowing

AR 3R TS TT e

(C) O Cutting (reaping), threshing and cleaning or winnowing (Correct Answer)
(Chosen option)

pfew (§iftm), ARAT 3R TETE a1 Bedr
(D) O Cutting (reaping) and cleaning or winnowing
peT (SfthT) 3R THTS a1 BT

Question No.69 Marks: 1.00

Bookmark
The Kharif crops are sown during the month of

T B Had & A H d18 Sl 8
(A) O March-April
-3

(B) O October-November
JACR-TIR

(C) O January-February
SHRI-HRast

(D) O June-July (Correct Answer) (Chosen option)
-GS

Question No.70 Marks: 1.00

Bookmark
The soil of Madhya Pradesh is generally:

e U ol gt SR W gl
(A) O Sandy-Loam
et

(B) O Red
T

(C) O Lateritic

(D) O Black cotton (Correct Answer) (Chosen option)
CtIE]

Question No.71 Marks: 1.00

Bookmark
Variety which is developed by mixing the seed of various genotypes (in equal quantity)
which are similar in maturity, height, seed size and colour is called

faf¥a SiHIeRy (THM A= H) & oSl ®f e faeRid &t SfiH arel fow, Gﬁtrﬁuw
mﬁ,@a%mﬁwﬁwsﬁ?ﬁ%ﬁ e ST 2|
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(A) O double cross hybrid

EESEIRIGHES]
(B) O synthetic variety
SRIGCACa
(C) O single cross hybrid
et 1Y BTsfsrs

(D) O composite variety (Correct Answer) (Chosen option)

Question No.72 Marks: 1.00
Bookmark

The national share of Soybean in Madhya Pradesh is around:
Teg YR H TTEIE 1 AP e e g gl
A) O 25%

25%
(B) O 90% (Chosen option)

90%
(C©)O 10%

10%

(D) O 50% (Correct Answer)
50%

Question No.73 Marks: 1.00
Bookmark

SRl is a cultivation method of .
THIRSME &1 U piY fafr g
(A) O rice (Correct Answer) (Chosen option)
grdel
(B) O wheat
g
(C) O maize
Hahl

(D) O ragi
L3l

Question No.74 Marks: 1.00
Bookmark

Soil layer that is derived from a wide variety of rocks weathering under strongly oxidizing
and leaching conditions is referred as Soil.

TeT Pt IR Sl JaAdH HTRNBRS 3R FeTe (el aRfufadl & qgd agmi & e
1 Uo faegd fifdyar A Saw gt ], a8 el S S 1
(A) O %a_:#r(

(B) O alluvial
SIS
(C) O laterite (Correct Answer) (Chosen option)

(D) O desert

Question No.75 Marks: 1.00
Bookmark

The term Bewar is used for in Madhya Pradesh.
e YR H §aR Xeg T TANT & o foran Sran g1
(A) O crop rotation
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A I (J1aaH)
(B) O mixed farming
[EIESEAL
(C) O shifting cultivation (Correct Answer) (Chosen option)
RITIAROT Wl

(D) O integrated farming

TP FY

Question No.76 Marks: 1.00
Bookmark

Rhizobium has an endo-symbiotic association with:
RESIECER:] & |1Y Teb USI-eoiid! I gial 8|
(A) O Lentil (Correct Answer)

afe
(B) O Potato

SAIe
(C) O Rice (Chosen option)

Iad
(D) O Maize

Hhl

Question No.77 Marks: 1.00
Bookmark

Di-ammonium phosphate is a .
SR-3HITY Bt Th gl
(A) O complex fertilizer (Correct Answer) (Chosen option)

gftry Idvw

(B) O mixed fertilizer
fAfia IRe
(C) O straight fertilizer
WA IRF (LT Belazor)

(D) O fortified organic manure

TP (BIICHIZS) Sfad WG

Question No.78 Marks: 1.00
Bookmark
is the flagship project of ICAR which is aimed to enhance the resilience of

Indian Agriculture to climate change and climate variability.
TR B URd TRENSHT & ForepT 3220 Sefarg uRad- 3R
Jear] URadRITEdT 8d YR HN & T &I ¢ g
(A) O MICRA

MICRA

(B) O PoCRA
PoCRA

(C) O NICRA (Correct Answer)
NICRA

(D) O NPCC (Chosen option)
NPCC

Question No.79 Marks: 1.00
Bookmark

In remote sensing, the sensors that detect the response in a large number of contiguous
narrow spectral bands are called Sensors.

IR Yaed #, gHiuy Yot auisrty o &t e 9t T & ufafsar &1 uar @ ard
Tdedh (FTR) B Y& Bl oIl 5|
@)
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(A) passive (Chosen option)
T ORma)
(B) O hyperspectral (Correct Answer)
QERREEG)
(C) O multispectral
g WIgH! (e W)
(D) O panchromatic
CREQLIRED)
Question No.80 Marks: 1.00
Bookmark
Which of the following is the Volatile Plant Hormone?
frafaRad o 9 o ara=iid urey g &7
(A) O Cytokinins
(B) O Ethylene (Correct Answer) (Chosen option)
D]
(C) O Abscisic acid
3
(D) O Auxin
3
Question No.81 Marks: 1.00
Bookmark
Wild rye or Couch (Elymus sp.) is a creeping weed.
ST TS 1 HI3T (Yo THUT.) TH BT WRUAR gl
(A) O perennial (Correct Answer) (Chosen option)
(B) O biennial
(C) O annual
(D) O tropical
JUIBICHE
Question No.82 Marks: 1.00
Bookmark
How many agro climatic zones are there in Madhya Pradesh?
A U o foha p-Siaarafas & 82
(A)O 9
9
(B)O 6
6
(C)O 16
16
(D) O 11 (Correct Answer) (Chosen option)
1"
Question No.83 Marks: 1.00
Bookmark
Flood, drought and high temperature are basically hazard.
g, g1 3R I dTUHH 4d =0 J TR T Yhe ¢ |
(A) O man-induced
Hd-
(B) O industrial
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3Menfes

(C) O hydrological

(D) O meteorological (Correct Answer) (Chosen option)
ey dad

Question No.84 Marks: 1.00

Bookmark
Regur soil is Soil.

TR, fg
(A) O red
ofled
(B) O rocky
AT
(C) O alluvial
S
(D) O black (Correct Answer) (Chosen option)
P

Question No.85 Marks: 1.00

Bookmark
Pollination type of Pigeonpea is

3REX BT IRATU UHR gl
(A) O cross-pollinated
UR-URTTOT
(B) O often cross-pollinated (Correct Answer) (Chosen option)
SR YPR-TRFTUT
(C) O self-pollinated
XG-URATUT
(D) O often self-pollinated
SR TI-URTTOT

Question No.86 Marks: 1.00

Bookmark
A variety developed by mixing the seeds of various phenotypically outstanding lines
possessing similarities for various characteristics is called

R Pt Rim el Sep T YI3T 3 Siofl @ R P T forer I il a1 el & o1
fafre forRwareft & fog ¥HMae el o ol

(A) O composite (Correct Answer) (Chosen option)
TRy (PHifve)

(B) O synthetic
Irafta (Riafe®)

(©) O trgnsgemc

(D) O r;ybrid

RERGHES))

Question No.87 Marks: 1.00

Bookmark
The seed rate of MP Chari variety of fodder jowar is

IRT SGR D! TAN TR {5 F el &R gl
(A) O 15-20 kg/ha

15-20 fHU1./8.
(B) O 25-30 kg/ha

25-30 bR
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(C) O 85-90 kg/ha
85-90 fa 11 /3.
(D) O 55-60 kg/ha (Correct Answer) (Chosen option)
55-60 fHIL./3.
Question No.88 Marks: 1.00
Bookmark
In India, the highest net sown area, irrigated area and cropping intensity are experienced
in:
YR ¥, G 31 Yok aTs &, Riferd &1 3R T (paer) Bt aifdrpar _ d e
St 8
(A) O Trans Gangetic Plain zone (Correct Answer) (Chosen option)
W TR A &7 (g9 Tifes w &)
(B) O Lower Gangetic Plain zone
39 7 Ae &7 (qeR finfed wH wiF)
(C) O Middle Gangetic Plain zone
A T Ao &7 (Rfsa infess wiH o)
(D) O The Upper Gangetic Plain zone
SR T A & (3R e @ o)
Question No.89 Marks: 1.00
Bookmark
As per ISFR (2019), forest and tree coveris % of the geographical area of
India.
STSTHUHSR (2019) & TR, a9 3R F&f URd & eI &5 HI % SfTaSTied
FRA G|
(A) O 29
29
B)0O 21
21
(C)O 19
19
(D) O 24 (Correct Answer) (Chosen option)
24
Question No.90 Marks: 1.00
Bookmark
The tool commonly used for seed bed preparation is .
AR IR IS 98 IR FRA & AU SXAATE a1 S aral STl H
(A) O cutlass (Chosen option)
hd™
(B) O bolo
CINll
(C) O sickle
ICa|
(D) O spade (Correct Answer)
Pald
Question No.91 Marks: 1.00
Bookmark
The Planning Commission of India has divided the Indiainto _ broad agro-
climatic zones.
YR & TSI TN A YR B TS H-STAarfdd & o
fqurfora fean g1
(A) O 20
20
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(B) O 15 (Correct Answer) (Chosen option)
15

€O n
11

(D) O 12
12

Question No0.92 Marks: 1.00

Bookmark
When two crops are grown at a same time in a particular land but those crops have
different growth habits and zero competition is known as cropping.

9 TP & YA T U &1 qHg B ) e I Sl § A 39 wua! $t 3fg B Sad
Wgﬁ?ﬁ%aﬁ?wﬁ%&uﬁwﬁ@?ﬂ%a‘rs@r I (HHd) & TG B o1
SIGIE
(A) O inter
3R RXR)
(B) O aley
T
(C) O parallel (Correct Answer) (Chosen option)
HHAMIR ()
(D) O relay

Question No.93 Marks: 1.00

Bookmark
Formation of DNA from m-RNA is known as

m-RNA ¥ SITT &1 fafor & TU T ST ATl g
(A) O tenalism
eAfereH

(B) O reverse transcription (Correct Answer)
JohH

(C) O transcription (Chosen option)

(D) O translation
S RCIEE]

Question No.94 Marks: 1.00
Bookmark
Vector used in crop improvement and crop managementismostly |
B YUR 3R HOd Yee & Tgad dae’ fIHi=rd: gl
(A) O Plasmid
RS

(B) O Agrobacterium (Correct Answer)

(C) O Phasmid (Chosen option)
BIHS

(D) O Cosmid
DI

Question No.95 Marks: 1.00

Bookmark
National Commission on Farmers started in the year
RIS T i o ¥ 3= frar ma g
(A) O 2010
2010

O
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(B) 2008
2008

(C) O 2004 (Correct Answer) (Chosen option)
2004

(D) O 2002
2002

Question No0.96 Marks: 1.00

Bookmark
Polyploidy is induced through:

& HTeH § U gt 5
(A) O Gamma- irradiation
- fafesRom
(B) O Ethylene
URKIE
(C) O X-ray irradiation (Chosen option)
TR faferor
(D) O Colchicine (Correct Answer)

Question No.97 Marks: 1.00

Bookmark
Synthetic seeds are

T W RRwaw) g
(A) O cybrids (Chosen option)

(B) O protoplasts
Siagedd (UICITRT)
(C) O somaclones

TR

(D) O somatic embryos (Correct Answer)

PP YU (Gafew Tl

Question No.98 Marks: 1.00

Bookmark
Eichhornia crassipes is weed.

3rZARMT HRY T TRIAIR &
(A) O marginal
id @)
(B) O submerged (Chosen option)
SICTHA
(C) O floating (Correct Answer)
At (i)
(D) O terrestrial
Ridg

Question No.99 Marks: 1.00

Bookmark
The Cabinet Committee on Economic Affairs (CCEA) has approved the increase in the
Minimum Support Prices (MSPs) for all mandated Rabi crops for marketing season
2021-22 and the highest increase in MSP has been announced for
(Rs. 300 per quintal).

e amal ot divsdig afifa (@ Riise) 3 fauum Wi 2021-22 & faw @aft siffard
& B & T graH gHd g (MSPs) H gfg & Fedl € & @ 3R wHuT # SwaH
IS (300 ¥UT U fbear) & forw 9iftd &t 73 3

(A) O gram (Bengal gram) (Chosen option)
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ERCUISIESIN
(B) O mustard
ESESs|

(C) O safflower

(D) O lentil (Correct Answer)
qrd

Question No.100 Marks: 1.00
Bookmark

Orange fruits are an excellent source of
TR0 e 1 TP IPT A |
(A) O Iron

S{IERA
(B) O Vitamin A (Chosen option)

ICEIEERY
(C) O Vitamin C (Correct Answer)

et <t
(D) O Calcium

ve & P
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